
 Zanotti Coffee Table

SKU 629628

Assembly Instructions

Page 1

 Thank you for your purchase. If you have any questions pertaining to the assembly of this
furniture piece, please contact the nearest World Market store. If you are not near a store,

please call our customer service call center toll free at 877-967-5362 for assistance.

 ALL PRODUCTS SOLD AT WORLD MARKET ARE NOT
FOR COMMERCIAL USE AND ARE INTENDED FOR

RESIDENTIAL USE ONLY.

2023.10.19



Allen Key 1T-1

Component List

LABEL PICTURE DESCRIPTION QTY

Large Tabletop

LABEL PICTURE DESCRIPTION QTY

Hardware List

Page 2

Tool List
LABEL PICTURE DESCRIPTION QTY

E

A

B

D

C

F

Long Allen Bolt (M6x30)mm

Flat Washer (M6x1)mm

Short Allen Bolt (M6x20)mm

Long Leg

Large Curved Base

Small Tabletop

1

4

2

1

4

2

H-1

H-2

H-3

8

8

16

Short Leg

Small Curved Base

H-4 16Spring Washer M6



Assembly Preparation

Before Beginning:

Page 3



x4

Top

Assembly Steps
Step 1

Page 4

B

H-2

T-1

ETop

x4

D

A

Turn Large/Small Tabletop (A/D) upside down onto a clean, non marring surface.
Place Leg (B) in corresponding positions on bottom of Large Tabletop (A) and Leg (E) for
Small Tabletop (D). Secure with Short Allen Bolts (H-2), Spring Washers (H-4) and Flat
Washers (H-3) and stacking the hardware in the order as shown.
Engage all hardware by hand, then tighten them using the Allen Key (T-1).
DO NOT OVER TIGHTEN.

H-4
H-3

H-2

T-1

H-4
H-3

(H-2) Short Allen Bolt x 8
(H-3) Flat Washer x 8
(H-4) Spring Washer x 8
(T-1) Allen Key x 1



Assembly Steps

Page 5

Top

Step 2

Top
x4

T-1

x4

H-1

H-3

T-1

Position each Large Curved Base (C) with the assembled Long Legs (B) on the Large Tabletop
(A) and each Small Curved Leg (F) with the assembled Short Legs (E) on the Small Tabletop
(D) as shown.
Secure with Long Allen Bolts (H-1), Spring Washers (H-4) and Flat Washers (H-3) and
stacking the hardware in the order as shown.
Engage all hardware by hand, then tighten them using the Allen Key (T-1).
DO NOT OVER TIGHTEN.

C

F

H-4

H-1

H-3

H-4

(H-1) Long Allen Bolt x 8
(H-3) Flat Washer x 8
(H-4) Spring Washer x 8
(T-1) Allen Key x 1



Assembly Steps

Page 6

Step 3

Turn assembly right side up. The Tables are designed to be nested in two ways. For Option B,
the LARGE TABLE must be lifted and places on top of the SMALL TABLE.
Assembly is now complete and the product is ready for use. Adjustable levelers are located on
the bottom of each leg and may be adjusted by turning outwards, counter-clockwise to help
account for uneven surfaces.
NOTE: Hardware may loosen over time. Periodically check that all connections remain tight
and adjust as needed.

Top

Option A Option B

ADJUSTABLE LEVELER

Levelers are located on the bottom
of each leg and may be used for adjustment

if needed for uneven surfaces.



Page 7



Page 8


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

